The Cauchy Problem for Nonlinear Hyperbolic Equations of Higher order using Modified Decomposition Method

Lazhar Bougoffa

Abstract: In this paper modified decomposition method is applied to the solvability of nonlinear hyperbolic equations of higher order with initial conditions and illustrated with a few simple examples. The results obtained indicate that Modified Decomposition Method is very effective and simple.

Keywords: Adomian decomposition method, nonlinear hyperbolic equation of higher order.

1. INTRODUCTION

We shall consider the Cauchy problem for the nonlinear hyperbolic equation of higher order [1,2,3] in $[0,T] \times \Re$

$$\left(\frac{\partial^2}{\partial t^2} - \frac{\partial^2}{\partial x^2}\right)^n u = F(u), n \ge 1,$$
(1)

where the nonlinear term is represented by F(u).

To equation (1) we attach the initial conditions

$$\frac{\partial^{i} u}{\partial t^{i}}(0,x) = \varphi_{i}(x), i = 0, \dots, 2n-1.$$

$$\tag{2}$$

The solution of (1)-(2) for $F(u) = f(t, x) \in L_2([0, T] \times \Re)$ is always unique follows from a general theorem due to Holmgren.

Eq.(1) can be written as follows:

$$\frac{\partial^{2n} u}{\partial t^{2n}} + \sum_{k=0}^{n-1} (-1)^{n-k} {n \choose k} \frac{\partial^{2n} u}{\partial t^{2k} \partial x^{2n-2k}} = F(u),$$
(3)

where $\binom{n}{k} = \frac{n!}{(n-k)!k!}$.

^{*} Faculty of Science, Department of Mathematics, Al-Imam Muhammad Ibu Saud Islamic University, P.O. Box 84880, Riyadh 11681, Kingdom of Saudi Arabia, *E-mail: bougoffa@hotmail.com*

16, 17, 18] to some more general types of parabolic and hyperbolic equations, and various problems.

In this paper we shall apply Modified Decomposition Method [4,6] to find solutions of (1)-(2). The decomposition scheme will be illustrated by studying suitable examples for nonlinear hyperbolic equations of fourth and sixth - orders. The solutions are obtained in the form of rapidly convergent power series with elegantly computable terms showing that the new technique is reliable, powerful and promising.

2. MODIFIED DECOMPOSITION METHOD

The modified decomposition method [4,6] may be used to solve the nonlinear problem given by (1) subject to the initial conditions (2). Defining the differential operator $L_{t...t}^{-1}$ of $L_{t...t} = \frac{\partial^{2n}}{\partial t^{2n}}$ as the 2*n* fold integration from 0 to *t*, we rewrite Eq. (3) in the operator form

$$L_{tt...t}u = \sum_{k=0}^{n-1} (-1)^{n-k+1} {n \choose k} \frac{\partial^{2n} u}{\partial t^{2k} \partial x^{2n-2k}} + F(u)$$
(4)

Applying the inverse operator $L_{tt...t}^{-1}$

$$L_{tt...t}^{-1}(.) = \int_0^t \int_0^t \dots \int_0^t (.) dt dt \dots dt$$

to Eq.(4) and using the initial conditions (2) we obtain

$$u = \sum_{i=0}^{2n-1} \varphi_i(x) \frac{t^i}{i!} + L_{tt...t}^{-1} \left(\sum_{k=0}^{n-1} (-1)^{n-k+1} {n \choose k} \frac{\partial^{2n} u}{\partial t^{2k} \partial x^{2n-2k}} \right) + L_{tt...t}^{-1} F(u),$$
(5)

or

$$u = \sum_{i=0}^{2n-1} \varphi_i(x) \frac{t^i}{i!} + L_{t_{t_{n-1}}}^{-1} \left[(-1)^{n+1} \binom{n}{0} \frac{\partial^{2n} u}{\partial x^{2n}} + (-1)^n \binom{n}{1} \frac{\partial^{2n} u}{\partial t^2 \partial x^{2n-2}} + \dots + (-1)^n \binom{n}{n-1} \frac{\partial^{2n} u}{\partial t^{2n-2} \partial x^2} \right] + L_{t_{n-1}}^{-1} F(u).$$

The Adomian decomposition method defines the unknown solution u by series of the form

$$u=\sum_{k=0}^{\infty}a_k(x)t^k,$$

and write

$$F(u) = \sum_{k=0}^{\infty} A_k(x)t^k = \sum_{k=0}^{\infty} A_k(a_0, a_1, ..., a_k, ...)t^k,$$

where A_n are called Adomian polynomials and can be generated for all types of nonlinearities according to algorithm set by Adomian [4,6],

$$A_n = \frac{1}{n!} \left[\frac{d^n}{d\lambda^n} F\left(\sum_{k=0}^{\infty} \lambda^k u_k \right) \right]_{\lambda=0}, n = 0, 1, 2, \dots$$

The substitution yields

$$\sum_{k=0}^{\infty} a_k(x)t^k = \sum_{i=0}^{2n-1} \varphi_i(x)\frac{t^i}{i!} + L_{u\ldots t}^{-1}S_1 + L_{u\ldots t}^{-1}\sum_{k=0}^{\infty} A_k(a_0, a_1, \dots, a_k, \dots)t^k,$$
(6)

where

$$S_{1} = (-1)^{n+1} {\binom{n}{0}} \sum_{k=0}^{\infty} \frac{\partial^{2n}}{\partial x^{2n}} a_{k}(x) t^{k} + (-1)^{n} {\binom{n}{1}} \sum_{k=2}^{\infty} k(k-1) \frac{\partial^{2n-2}}{\partial x^{2n-2}} a_{k}(x) t^{k-2}$$

$$+ \dots + {\binom{n}{n-1}} \sum_{k=2n-2}^{\infty} k(k-1) \dots (k-2n+3) \frac{\partial^{2}}{\partial x^{2}} a_{k}(x) t^{k-2n+2},$$
(7)

In the summations we now replace k - 2n + 2, n = 0, 1, ... by k on the right to get

$$S_{1} = (-1)^{n+1} {\binom{n}{0}} \sum_{k=0}^{\infty} \frac{\partial^{2n}}{\partial x^{2n}} a_{k}(x) t^{k} + (-1)^{n} {\binom{n}{1}} \sum_{k=0}^{\infty} (k+2)(k+1) \frac{\partial^{2n-2}}{\partial x^{2n-2}} a_{k+2}(x) t^{k}$$

$$+ \dots + {\binom{n}{n-1}} \sum_{k=0}^{\infty} (k+2n-2)(k+2n-3)\dots(k+1) \frac{\partial^{2}}{\partial x^{2}} a_{k+2n-2}(x) t^{k}.$$
(8)

We now carry out the above integrations in (6) to write

$$\sum_{k=0}^{\infty} a_k(x) t^k = \sum_{i=0}^{2n-1} \varphi_i(x) \frac{t^i}{i!} + \sum_{k=0}^{\infty} \frac{t^{k+2n}}{(k+1)(k+2)\dots(k+2n)} S_2$$

$$+ \sum_{k=0}^{\infty} \frac{A_k(a_0, a_1, \dots, a_k, \dots) t^{k+2n}}{(k+1)(k+2)\dots(k+2n)},$$
(9)

where

$$S_{2} = (-1)^{n+1} \binom{n}{0} \frac{\partial^{2n}}{\partial x^{2n}} a_{k}(x) + \dots + \binom{n}{n-1} (k+2n-2)(k+2n-3)\dots(k+1) \frac{\partial^{2}}{\partial x^{2}} a_{k+2n-2}(x).$$
(10)

In the summation on the right, k can be replaced by k - 2n, to write

$$\sum_{k=0}^{\infty} a_k(x) t^k = \sum_{i=0}^{2n-1} \varphi_i(x) \frac{t^i}{i!} + \sum_{k=2n}^{\infty} \frac{t^k}{(k-2n+1)(k-2n+2)...k} (S_3 + A_{k-2n}),$$
(11)

where

$$S_{3} = (-1)^{n+1} {n \choose 0} \frac{\partial^{2n}}{\partial x^{2n}} a_{k-2n}(x) + \dots + {n \choose n-1} (k-2)(k-3)\dots(k-2n+1) \frac{\partial^{2}}{\partial x^{2}} a_{k-2}(x).$$
(12)

Finally, we can equate coefficients of like powers of t on the left side and on the right side to obtain the recurrence relations for the coefficients. Thus

$$\begin{cases} a_{0} = \varphi_{0}(x), \\ a_{1} = \varphi_{1}(x), \\ a_{2} = \frac{\varphi_{2}(x)}{2!}, \\ a_{3} = \frac{\varphi_{3}(x)}{3!}, \\ \dots \\ a_{2n-1} = \frac{\varphi_{2n-1}(x)}{(2n-1)!}, \\ a_{k} = \frac{(-1)^{n+1} {n \choose 0} \frac{\partial^{2n} a_{k-2n}(x)}{\partial x^{2n}} + \dots + N \frac{\partial^{2} a_{k-2}(x)}{\partial x^{2}} + A_{k-2n}}{(k-2n+1)(k-2n+2)\dots k}, k \ge 2n, \end{cases}$$

where $N = \binom{n}{n-1}(k-2)(k-3)...(k-2n+1)$.

The final solution is now given by $u(t, x) = \sum_{k=0}^{\infty} a_k(x)t^k$. This method is illustrated in the following cases.

1. Hyperbolic equation of fourth-order

For n = 2 problem (1)-(2) becomes

$$\frac{\partial^4 u}{\partial t^4} - 2 \frac{\partial^4 u}{\partial t^2 \partial x^2} + \frac{\partial^4 u}{\partial x^4} = F(u), \tag{13}$$

$$\frac{\partial^{i} u}{\partial t^{i}}(0,x) = \varphi_{i}(x), i = 0,...,3,$$
(14)

which is the Cauchy problem for hyperbolic of fourth order [19,20,21]. The recurrence relations for the coefficients can be put in the form.

	$\begin{bmatrix} a_0 \\ a_1 \end{bmatrix}$	=	$\varphi_0(x),$ $\varphi_1(x),$
<	<i>a</i> ₂	=	$\frac{\varphi_2(x)}{2!},$
	<i>a</i> ₃	=	$\frac{\varphi_3(x)}{3!},$
	a_k	=	$\frac{-(\frac{\partial^4}{\partial x^4})a_{k-4} + 2(k-2)(k-3)(\frac{\partial^2}{\partial x^2})a_{k-2} + A_{k-4}}{(k-3)(k-2)(k-1)k}, k \ge 4.$

-

Example 1. Consider problem (13)-(14) with

$$\varphi_i(x) = e^x, i = 0, ..., 3$$

and

$$F(u) = u^2 - \left(\frac{\partial u}{\partial t}\right)^2.$$

Now we solve this problem by modified decomposition method. Direct computation of some of the Adomian's polynomials for the nonlinear term $F(u) = u^2 - \left(\frac{\partial u}{\partial t}\right)^2$ are given as follows:

$$A_{0} = a_{0}^{2} - a_{1}^{2},$$

$$A_{1} = 2a_{0}a_{1} - 4a_{1}a_{2},$$

$$A_{2} = a_{1}^{2} + 2a_{0}a_{2} - 6a_{1}a_{3} - 4a_{2}^{2},$$

$$A_{3} = 2a_{1}a_{2} + 2a_{0}a_{3} - 8a_{1}a_{4} - 12a_{2}a_{3},$$

$$A_{4} = a_{2}^{2} + 2a_{1}a_{3} + 2a_{0}a_{4} - 10a_{1}a_{5} - 14a_{2}a_{4} - 9a_{3}^{2},$$

The above recurrence relations for the coefficients gives

$$a_k = \frac{e^x}{k!}, k \ge 0,$$

•••

and

$$u(t,x) = \sum_{k=0}^{\infty} a_k(x)t^k = \sum_{k=0}^{\infty} \frac{e^x}{k!}t^k,$$

which is the partial sum of the Taylor series of the exact solution exp(x+t).

Example 2. Consider problem (13)-(14) with

$$\varphi_0(x) = -x^4, \varphi_i(x) = 0, i = 1, 2, 3,$$

and

$$F(u) = \left(\frac{\partial^2 u}{\partial t^2}\right)^2 - \left(\frac{\partial^2 u}{\partial x^2}\right)^2 - 144u.$$

The Adomian's polynomials for $F(u) = \left(\frac{\partial^2 u}{\partial t^2}\right)^2 - \left(\frac{\partial^2 u}{\partial x^2}\right)^2 - 144u$ are

$$A_{0} = 4a_{2}^{2} - a_{0}^{*2} - 144a_{0},$$

$$A_{1} = 24a_{2}a_{3} - 2a_{0}^{"}a_{1}^{"} - 144a_{1},$$

$$A_{2} = 48a_{2}a_{4} + 36a_{3}^{2} - 2a_{0}^{"}a_{2}^{"} - a_{1}^{"2} - 144a_{2},$$

The above recursive algorithm and the computed polynomials A_n yield

$$a_0 = -x^4, a_1 = a_2 = a_3 = 0,$$

• • •

and

$$a_4 = 1, a_k = 0, k = 5, 6, \dots$$

Thus, the solution for u(t, x) in series form

$$u(t,x) = \sum_{k=0}^{\infty} a_k(x)t^k = -x^4 + t^4,$$

with only two terms, which can be verified through substitution to be the exact solution of this problem.

2. Hyperbolic Equation of Sixth-Order

For n = 3, problem (1)-(2) becomes

$$\frac{\partial^6 u}{\partial t^6} - 3 \frac{\partial^6 u}{\partial t^4 \partial x^2} + 3 \frac{\partial^6 u}{\partial t^2 \partial x^4} - \frac{\partial^6 u}{\partial x^6} = F(u), \tag{15}$$

$$\frac{\partial^{i} u}{\partial t^{i}}(0,x) = \varphi_{i}(x), i = 0, \dots, 5,$$
(16)

and the recurrence relations for the coefficients for problem (15)-(16) can be written as follows.

$$\begin{cases} a_{0} = & \varphi_{0}(x), \\ a_{1} = & \varphi_{1}(x), \\ a_{2} = & \frac{\varphi_{2}(x)}{2!}, \\ a_{3} = & \frac{\varphi_{3}(x)}{3!}, \\ a_{4} = & \frac{\varphi_{4}(x)}{4!}, \\ a_{5} = & \frac{\varphi_{5}(x)}{5!}, \\ a_{k} = & \frac{\frac{\partial^{6}a_{k-6}}{\partial x^{6}} - 3(k-5)(k-4)\frac{\partial^{4}a_{k-4}}{\partial x^{4}} + 3(k-2)(k-3)(k-4)(k-5)\frac{\partial^{2}a_{k-2}}{\partial x^{2}} + A_{k-6}}{(k-5)(k-4)(k-3)(k-2)(k-1)k}, k \ge 6. \end{cases}$$

Example 3. Consider problem (15)-(16) with

$$\varphi_0(x) = \varphi_2(x) = \varphi_4(x) = 0,$$

 $\varphi_1(x) = \cos x, \varphi_3(x) = -\cos x, \varphi_5(x) = \cos x,$

and

$$F(u) = u \frac{\partial^2 u}{\partial t^2} - u \frac{\partial^2 u}{\partial x^2}.$$

By modified decomposition method, the components a_k , k = 0, 1... are determined by the recursive algorithm

$$\begin{cases} a_{2k} = 0, k0, \\ a_{2k+1} = \cos x \frac{(-1)^k}{(2k+1)!}, k \ge 0, \end{cases}$$

where the Adomian polynomials can be determined for $F(u) = u \frac{\partial^2 u}{\partial t^2} - u \frac{\partial^2 u}{\partial x^2}$ as

$$A_{0} = 2a_{0}a_{2} - a_{0}a_{0}^{'},$$

$$A_{1} = 6a_{0}a_{3} + 2a_{1}a_{2} - a_{0}a_{1}^{'} - a_{1}a_{0}^{'},$$

$$A_{2} = 12a_{0}a_{4} + 6a_{1}a_{3} + 2a_{2}^{2} - a_{0}a_{2}^{'} - a_{1}a_{1}^{'} - a_{2}a_{0}^{'},$$
...

Thus the solution

$$u(t,x) = \sum_{k=0}^{\infty} a_k(x)t^k = \cos x \sum_{k=0}^{\infty} \frac{(-1)^k t^{2k+1}}{(2k+1)!} = \cos x \sin t,$$

which can be verified through substitution to be the exact solution.

3. CONCLUSION

The modified decomposition method has been proved to be reliable in handing the initial value problems for nonlinear hyperbolic equations of higher order. Some examples with closed form solutions are studied, and the results obtained are just the same as those given from applying the modified decomposition method.

REFERENCES

- [1] R. Beals, *Hyperbolic equations and systems with multiple characteristics*, Arch. Rational Mech. Anal., Vol. 48, 1972.
- [2] K. Kajitani, S. Wakabayashi, *The hyperbolic mixed problem in Gevrey classes*, Japan J. Math., Vol. **15**, No. 2, pp. 309-383, 1989.
- [3] H. Kreiss, *Initial boundary value problems for hyperbolic systems*, Communs Pure and Appl. Math., Vol. 23, pp. 277-298, 1970.
- [4] G. Adomian, *Nonlinear stochastic operator equations*, Academic Press, Orlando, FL, 1986.
- [5] G. Adomian, *Solving frontier problems of physics: the decomposition method*, Boston: Kluwer Academic Publishers, 1994.
- [6] N. Ngarhasta, B. Some, K. Abbaoui, Y. Cherruault, New numerical study of Adomian's method applied to a diffusion model, Kybernetes, Vol. 31, pp. 61-75, 2002.
- [7] Y. Cherruault, G. Saccomandi, B. Some, *New results for convergence of Adomian's method applied to integral equations*, Math. Comput. Modell. Vol. **16**, pp. 55-93, 1992.
- [8] A. Wazwaz, A. Gorguis, *Exact solutions for heat-like and wave-like equations with variable coefficients*, Appl. Math. Comput., Vol. **149**, pp. 15-29, 2004.
- [9] A. Wazwaz, Necessary conditions for the appearance of noise terms in decomposition solution series, Appl. Math. Comput., Vol. 81, pp. 265-274, 1997.
- [10] A. Wazwaz, The modified decomposition method and Padé approximants for solving Thomas-Fermi equation, Appl. Math. Comput., Vol. 105, pp. 11-19, 1999.
- [11] A. Wazwaz, *The numerical solution of special fourth-order boundary value problems by the modified decomposition method*, Int. J. Comput. Math., Vol. **79**, Issue 3, pp. 345-356, 2002.
- [12] A. Soufyane, M. Boulmalf, Solution of linear and nonlinear parabolic equations by the decomposition method, Appl. Math. Comput., Vol. 162, pp. 687-693, 2005.
- [13] C. Zhao, *Algorithm and mechanization to Cauchy problem of parabolic equation*, Appl. Math. Comput., Vol. **169**, pp. 1038-1044, 2005.
- [14] J. Biazar, R. Islam, Solution of wave equation by Adomian's decomposition method and restrictions of the method, Appl. Math. Comput., Vol. 149, pp. 807-814, 2004.
- [15] D. Lesnic, *The Cauchy problem for the wave equation using the decomposition method*, Appl. Math. Lett., Vol. **15**, pp. 697-701, 2002.
- [16] D. Lesnic, The decomposition method for backward time-dependent problems, J. Compt. Math., Vol. 147, pp. 27-39, 2002.

- [17] D. Lesnic, The decomposition method for initial value problems, Appl. Math. Comput., Vol. 181, pp. 206-213, 2006.
- [18] Xing-Guo Luo, A two-step Adomian decomposition method, Appl. Math. Comput., Vol. 170, pp. 570-583, 2005.
- [19] F. Colombini, T. Kinoshita, On the weakly hyperbolic equation of 4th order, Hokkaido Math. J., Vol. 31, pp. 39-60, 2002.
- [20] Y. Ohya, S. Tarama, Le problème de Cauchy a caractéristiques multiples coéfficients hölderiens en t, Procedings of the Taniguchi International Symposium on Hyperbolic Equations and Related Topics, pp. 273-306, 1984.
- [21] M. D. Bronstein, *The Cauchy problem for hyperbolic operators with characteristics of variable multiplicity*, Trudy Moskov. Mat. Obsc., Vol. **41**, pp. 87-103, 1980 (trans. Moscow Math. Soc. 1 (1982)87-103).